
Nombres Décimaux (J)
Trouvez chaque différence.

19 - 0,98 = 4,6 - 3,9 =

26 - 1,1 = 7,3 - 0,26 =

7,5 - 6,6 = 0,32 - 0,19 =

5,7 - 3,2 = 9,1 - 0,29 =

0,93 - 0,36 = 7,1 - 4,5 =

2,8 - 1,9 = 34 - 5,6 =

6,3 - 0,11 = 4,4 - 0,94 =

6,4 - 1,9 = 4,1 - 0,85 =

37 - 0,76 = 1,4 - 0,49 =

0,59 - 0,35 = 0,74 - 0,51 =
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Nombres Décimaux (J) Solutions
Trouvez chaque différence.

19 - 0,98 = 18,02 4,6 - 3,9 = 0,7

26 - 1,1 = 24,9 7,3 - 0,26 = 7,04

7,5 - 6,6 = 0,9 0,32 - 0,19 = 0,13

5,7 - 3,2 = 2,5 9,1 - 0,29 = 8,81

0,93 - 0,36 = 0,57 7,1 - 4,5 = 2,6

2,8 - 1,9 = 0,9 34 - 5,6 = 28,4

6,3 - 0,11 = 6,19 4,4 - 0,94 = 3,46

6,4 - 1,9 = 4,5 4,1 - 0,85 = 3,25

37 - 0,76 = 36,24 1,4 - 0,49 = 0,91

0,59 - 0,35 = 0,24 0,74 - 0,51 = 0,23
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